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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections
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Question ID : 6913523999
Option 11D : 69135215993
Option 2 ID : 69135215996
Option 3 ID : 69135215995
Option 4 ID : 69135215994
Status : Answered
Chosen Option : 4
Q2 The valency of carbon in carbon dioxide is:
Ans x 1. =
X21
s 4
X 43
Question ID : 6913523967
Option 11D : 69135215867
Option 2 ID : 69135215868
Option 3 ID : 69135215865
Option 41D : 69135215866
Status : Answered
Chosen Option: 3
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Ans

Californium is a member of the  group.
/< 1. halogen

/< 2. noble gases

¥ 3. actinide

# 4 halide

Question ID : 6913523975
Option 11D : 69135215897
Option 2 ID : 69135215900
Option 31D : 69135215898
Option 41D : 69135215899
Status : Marked For Review
Chosen Option : 3
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Question ID : 6913523927
Option 1 ID : 69135215705
Option 2 ID : 69135215708
Option 31D : 69135215707
Option 4 ID : 69135215706
Status : Answered
Chosen Option : 4
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Question ID :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

6913523953

169135215812
169135215811
169135215809
169135215810

: Not Attempted and Marked For Review
Chosen Option :

Ans X 1. Combination

< 2. Decomposition
/< 3. Displacement
+ 4 Double displacement

Q6 A precipitate is formed in which of the below reactions?

Question ID :
Option 11D :

Option 2 ID
Option 3 ID
Option 4 ID

Status :

6913523971
69135215881

169135215882
169135215883
169135215884
Marked For Review

Chosen Option : 4

Ans of 1. 280
X2 38°
X3 45°
X4 36°
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

6913523924
69135215695
69135215693
69135215696
69135215694
Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :

6913523910

69135215638
69135215640
69135215637




Option 4 ID : 69135215639
Status : Answered

Chosen Option :
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Question ID : 6913523902
Option 11D : 69135215608
Option 2 ID : 69135215605
Option 31D : 69135215606
Option 4 1D : 69135215607
Status : Answered
Chosen Option: 2
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Question ID : 6913523938
Option 11D : 69135215750
Option 2 ID : 69135215749
Option 31D : 69135215752
Option 4 1D : 69135215751
Status : Answered
Chosen Option : 2
°1'1 Brain is also the coordinating centre of the body.
Ans X 1. Useless
/< 2. Secondary
+ 3 Main
/< 4. Optional
Question ID : 6913523978
Option 11D : 69135215910
Option 2 1D : 69135215911
Option 31D : 69135215909
Option 4 ID : 69135215912
Status : Answered
Chosen Option: 3
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A. T9AT (Spectacle)
B. == (Prism)
C. 9" (Lens)

D

. dR (Wire)
Ans x 1.6
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Question ID : 6913523946
Option 11D : 69135215783
Option 2 1D : 69135215782
Option 31D : 69135215781
Option 4 1D : 69135215784
Status : Answered
Chosen Option : 4
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Question ID : 6913523993
Option 11D : 69135215969
Option 2 ID : 69135215971
Option 31D : 69135215972
Option 4 1D : 69135215970
Status : Answered
Chosen Option : 4
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Ans  of 1. 99062
< 2. 99958
< 399858
< 4 99972
Question ID : 6913523908
Option 11D : 69135215632
Option 21D : 69135215630
Option 31D : 69135215629
Option 4 ID : 69135215631
Status : Answered

Chosen Option :
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Question ID : 6913523988
Option 11D : 69135215950
Option 2 ID : 69135215949
Option 31D : 69135215951
Option 4 ID : 69135215952
Status : Answered
Chosen Option: 1

6

Ans

Q.1 Sunita works in a private firm and her annual income is Z 12 lakhs. 5% of her expense goes towards maintaining her

new home and the cost of maintaining her old house is 2% more than the new house. On an average, how much does

she spend on a monthly basis maintaining the two houses?

X 1. % 36,000
W 2 12,000
<3 F 12,500
X 4 20,000

Question ID : 6913523943
Option 11D : 69135215769
Option 2 1D : 69135215770
Option 31D : 69135215771
Option 4 1D : 69135215772
Status : Answered
Chosen Option : 2

7

Ans

Statement:
AR Rahman is a great music director. He is very creative.
Conclusions:
I All music directors are great
1L AR Rahman gives creative tunes.
/< 1. Both I and II follow
/< 2. Only conclusion I follows

« 3. Only conclusion IT follows
#< 4 Neither I nor II follows

Q.1 Read the statement and identify the logically correct conclusion from the given information.

Question ID : 6913523932
Option 11D : 69135215728
Option 2 ID : 69135215725




Option 31D : 69135215726
Option 4 ID : 69135215727
Status : Answered
Chosen Option : 3
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Question ID : 6913523950
Option 11D : 69135215799
Option 2 ID : 69135215800
Option 31D : 69135215798
Option 4 ID : 69135215797
Status : Answered
Chosen Option : 1
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Question ID : 6913523903
Option 11D : 69135215612
Option 2 ID : 69135215611
Option 31D : 69135215610
Option 41D : 69135215609
Status : Answered
Chosen Option : 4

062 What is the force acting on an object perpendicular to the surface called?

Ans 1. Pressure

/< 2. Torque
v 3 Thrust




/< 4 Tension

X ¢ srerm

Question ID : 6913523956
Option 11D : 69135215821
Option 2 ID : 69135215822
Option 31D : 69135215823
Option 4 ID : 69135215824
Status : Answered
Chosen Option : 2
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Question ID : 6913523995
Option 11D : 69135215980
Option 2 ID : 69135215978
Option 31D : 69135215979
Option 4 ID : 69135215977
Status : Not Answered
Chosen Option : --
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Question ID : 6913523954
Option 11D : 69135215815
Option 2 ID : 69135215814
Option 31D : 69135215813
Option 4 ID : 69135215816
Status : Answered
Chosen Option : 3
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Question ID : 6913523997
Option 11D : 69135215987
Option 2 ID : 69135215985
Option 31D : 69135215988
Option 4 ID : 69135215986
Status : Answered
Chosen Option: 2
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Question ID : 6913523909
Option 11D : 69135215636
Option 2 ID : 69135215634
Option 31D : 69135215635
Option 4 ID : 69135215633
Status : Answered
Chosen Option : 2
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Question ID : 6913523949
Option 11D : 69135215795
Option 2 ID : 69135215794
Option 31D : 69135215793
Option 4 1D : 69135215796
Status : Answered




Chosen Option :

1

@2 Which of the following numbers is irrational?

Ans !1' =3 409

Chosen Option :

W 6
2
X 2 3/4096
&
X< 3 3/4096
F-3
2 4 34096
Question ID : 6913523901
Option 11D : 69135215604
Option 21D : 69135215601
Option 31D : 69135215603
Option 4 1D : 69135215602
Status : Answered
Chosen Option: 2
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Question ID : 6913523926
Option 11D : 69135215702
Option 2 1D : 69135215703
Option 31D : 69135215704
Option 4 1D : 69135215701
Status : Answered
Chosen Option : 4
Q.2 If an object of mass m is raised to height h from the ground, then a force is required to do this. The minimum force
8 required to raise the object is equal to the
Ans % 1. distance from ground
/< 2. force applied
« 3. weight of the object
/< 4. height of the object
Question ID : 6913523960
Option 11D : 69135215839
Option 2 ID : 69135215840
Option 31D : 69135215837
Option 4 1D : 69135215838
Status : Marked For Review
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913523917
69135215665
69135215666
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69135215668
Answered
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Question ID
Option 1 ID
Option 2 ID
Option 3 1D

Status

: 6913523992
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Option 41D :
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: Not Answered
Chosen Option :
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :
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69135215717
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69135215719
Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :
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69135215983
Not Answered
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Question ID : 6913523947
Option 11D : 69135215788
Option 2 ID : 69135215787
Option 31D : 69135215786
Option 4 ID : 69135215785
Status : Answered
Chosen Option : 4
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Ans X 1. 46 ohm
< 2. 50 ohm
X 3. 40 ohm
v 4 48 ohm
Question ID : 6913523966
Option 11D : 69135215862
Option 2 1D : 69135215864
Option 31D : 69135215861
Option 4 ID : 69135215863
Status : Answered
Chosen Option : 4
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Question ID : 6913523922
Option 11D : 69135215688
Option 2 ID : 69135215685
Option 31D : 69135215686
Option 4 ID : 69135215687
Status : Answered
Chosen Option : 2
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Question ID : 6913524000
Option 11D : 69135215998
Option 2 ID : 69135215997
Option 31D : 69135215999
Option 41D : 69135216000
Status : Answered
Chosen Option : 1
Qf is used for making perfumes. It is also used as a flavouring agent.
Ans - 1. Fthane
« 2. Ester
X 3. Benzene
/< 4. Propane
Question ID : 6913523973
Option 11D : 69135215889
Option 2 ID : 69135215890
Option 31D : 69135215891
Option 4 ID : 69135215892
Status : Not Answered
Chosen Option : --
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Question ID : 6913523920
Option 11D : 69135215677
Option 2 ID : 69135215678
Option 31D : 69135215679
Option 4 ID : 69135215680
Status : Answered
Chosen Option : 3
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Question ID : 6913523945
Option 11D : 69135215778
Option 2 ID : 69135215777
Option 31D : 69135215780
Option 4 ID : 69135215779
Status : Answered
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Chosen Option : 4
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Question ID : 6913523936
Option 11D : 69135215743
Option 21D : 69135215744
Option 31D : 69135215741
Option 4 1D : 69135215742
Status : Answered
Chosen Option: 1
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Question ID : 6913523942
Option 1 ID : 69135215765
Option 21D : 69135215766
Option 31D : 69135215768
Option 4 ID : 69135215767
Status : Answered
Chosen Option : 2
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Question ID : 6913523974
Option 11D : 69135215896




Option 2 ID : 69135215893
Option 31D : 69135215895
Option 4 ID : 69135215894
Status : Answered
Chosen Option : 3
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Question ID : 6913523937
Option 11D : 69135215747
Option 2 ID : 69135215748
Option 31D : 69135215745
Option 4 ID : 69135215746
Status : Answered
Chosen Option : 2
Q.4 ; s . oo
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Ans of 1. 3700
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Question ID : 6913523906
Option 11D : 69135215623
Option 2 ID : 69135215621
Option 31D : 69135215624
Option 4 ID : 69135215622
Status : Answered
Chosen Option : 1
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Question ID : 6913523984
Option 11D : 69135215934
Option 2 ID : 69135215936
Option 31D : 69135215933
Option 4 1D : 69135215935




Status : Not Answered
Chosen Option : --
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Question ID : 6913523964
Option 11D : 69135215854
Option 2 ID : 69135215856
Option 31D : 69135215853
Option 4 ID : 69135215855
Status : Answered
Chosen Option : 4
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Question ID : 6913523935
Option 11D : 69135215739
Option 2 ID : 69135215737
Option 31D : 69135215738
Option 4 ID : 69135215740
Status : Answered
Chosen Option : 4
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Question ID : 6913523958
Option 11D : 69135215831
Option 21D : 69135215832




Chosen Option :

Option 31D : 69135215829
Option 4 1D : 69135215830
Status : Answered
Chosen Option : 1
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Question ID : 6913523934
Option 11D : 69135215735
Option 2 ID : 69135215733
Option 31D : 69135215734
Option 4 ID : 69135215736

Status : Marked For Review

2

A o1 9x108 J
< 2 900x108 J

065 T W F TF A H 250 FHS T H TIA §5| TG A o[ A foberenr gem?

23 9x107 J
<4 9x100 J
Question ID : 6913523962
Option 11D : 69135215845
Option 2 ID : 69135215846
Option 31D : 69135215848
Option 4 ID : 69135215847
Status : Answered
Chosen Option : 1
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Ans
X1 8.9 m/s?
v'2 81 mis?
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X4 4.0 mis?
Question ID : 6913523959




Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :
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69135215835
69135215834
69135215833
Not Answered
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Question ID : 6913523955
Option 11D : 69135215819
Option 21D : 69135215818
Option 31D : 69135215817
Option 4 ID : 69135215820
Status : Answered
Chosen Option : 3
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Question ID : 6913523931
Option 11D : 69135215721
Option 2 ID : 69135215723
Option 31D : 69135215722
Option 4 ID : 69135215724




Status : Answered
Chosen Option : 3
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Question ID : 6913523941
Option 11D : 69135215763
Option 2 ID : 69135215762
Option 31D : 69135215764
Option 4 1D : 69135215761
Status : Answered
Chosen Option : 1
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Question ID : 6913523928
Option 11D : 69135215711
Option 2 ID : 69135215709
Option 31D : 69135215712
Option 41D : 69135215710
Status : Answered
Chosen Option : 2
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Question ID : 6913523940
Option 11D : 69135215758
Option 21D : 69135215760
Option 31D : 69135215759
Option 4 1D : 69135215757
Status : Answered
Chosen Option : 4
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Question ID : 6913523989
Option 11D : 69135215953
Option 2 ID : 69135215956
Option 31D : 69135215954
Option 4 1D : 69135215955
Status : Not Answered
Chosen Option : --
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2 3. 5,00,000
X 4 5000

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

6913523939
69135215756
69135215755
69135215753
69135215754
Answered

Chosen Option : 1
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :
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69135215989
69135215992
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69135215990
Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913523986
69135215943
69135215944
69135215941
69135215942
Answered

2

%6 Which of the following alloy is made up of 4 constituents?
Ans % 1. Manganin
' 2. Nichrome

/< 3. Solder
/< 4. Constantan




Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913523965

69135215858
69135215859
69135215860
69135215857
Not Answered

2 o mwe w2

Ans X 1. 19.735 < x < 19.755
K 2 19.745 < x < 19.755
X< 3.19.735 < x < 19.755
V4 19.745 < x < 19.755

Q.6 e TEA x F & EFHET T d it Bk 19.75 & w9 & @@ o ¥ BT & @ e

Chosen Option :

Question ID : 6913523907
Option 11D : 69135215626
Option 2 ID : 69135215625
Option 31D : 69135215628
Option 4 ID : 69135215627
Status : Answered
Chosen Option : 4
Q.6 21 geur 3t 3 Afemed a1 18 N Ak 21 Afgent T FS FH @ FS F 25 BF o &) ok FH
3 @y 15w & q A § R 25 qov ¥, o el afyerat £ amsemwar g
as X1 38
X2 40
X3 36
v 4 35
Question ID : 6913523914
Option 11D : 69135215655
Option 2 1D : 69135215656
Option 31D : 69135215654
Option 4 ID : 69135215653
Status : Not Answered

W 3 @ w9 5w O9 § §ERg &
Ans ?<'1. a#aﬁﬁﬁT

V2 E

?(3.323'?'?{

X a ?ﬁt—ﬂ'

Question ID :
Option 11D :
Option 21D :
Option 31D :

6913523983

69135215930
69135215931
69135215929




Option 4 ID : 69135215932
Status : Answered
Chosen Option : 2
Q.6 The rate of general body growth begins to slow down as the reproductive tissues begin to mature. This period during
5  adolescence is called:
Ans 1. Liberty
« 2. Puberty
/< 3. Maturity
7< 4 Menstruation
Question ID : 6913523980
Option 11D : 69135215918
Option 2 ID : 69135215919
Option 31D : 69135215917
Option 4 ID : 69135215920
Status : Answered
Chosen Option : 4
Q.6 v TEETE HETRAT F e, TRt T Sl * genAEt H I auiEtdT war & e Fw
6 @ s ¥
Ans 2 *
X1 FHT JL&ToT T e
X 2 AT T & Taw
v 5. ZETAT TIEUT & e
X 4 gETEtRE gaeT F A
Question ID : 6913523968
Option 11D : 69135215872
Option 2 1D : 69135215869
Option 31D : 69135215870
Option 4 1D : 69135215871
Status : Answered
Chosen Option: 3
Q.6 Far 10 & st F BT v giew AT # S, 96% E%‘EI’WE‘Q’ﬁ?TSO 3P W Baw o
7 softvm ge o
Ans X 1. 1400
< 21200
# 31600
« 4 1250
Question ID : 6913523918
Option 11D : 69135215672
Option 2 ID : 69135215670
Option 31D : 69135215669
Option 4 1D : 69135215671
Status : Answered
Chosen Option : 4




Q.6 f3w 7T wmue 3T et @ curw ¥ 9F 3k a7 Tmw Y B S o et e ¥ g9 F aFoea
8 &

FU:

. o #F Sl g §
Il Fo wher St
sy

1. 3o o S A
2. o 0 9t

A 1 Fae ey 1 FHEIT B
X2 g&r 1 3T 2 FwEea F
X 3 Fae faswy 2 FFgea B
Xaogar1 a2 aFaa g

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913523929
69135215713
69135215714
69135215715
69135215716
Answered

1

Ans

X FARA WA

X 2 offffer &R
v 5 gifas sest
X 4 T et

Q.6 2018 # form oMl AT F FH F Fafea ANF [EFR, T A {1 A Fo= BFw @ 32
9

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

6913523987

69135215948
69135215947
69135215946
69135215945
Not Answered

0

Ans

@

v 1. HAL
X 2. HPCL
< 3. BPCL
< 4 ONGC

Q7 gra # "TReDS wew™" W dd-3d a0 & Torw AT 3 amr ggor 9w &9 3cuA

Question ID : 6913523990
Option 11D : 69135215958
Option 2 ID : 69135215959




Option 3 ID
Option 4 ID
Status

Chosen Option

169135215960
1 69135215957
: Not Answered

Ans x 1. Vagina
« 2. fallopian tube

< 3. uterus
X 4 ovary

%7 In human beings, fertilisation takes place in :

Question ID : 6913523979

Option 11D : 69135215914
Option 2 ID : 69135215915
Option 31D : 69135215916

Chosen Option :

Option 41D : 69135215913
Status : Answered
Chosen Option : 2
Qé7 25 $HCI F TS Heol & uh Fegnd ganr 10 kmvhr F7 91fG § U TR T F R HE @ET?
Ans 1. 10 min
X 2 16 min
/< 3. 8 min
v 4 12 min
Question ID : 6913523923
Option 11D : 69135215689
Option 2 1D : 69135215691
Option 31D : 69135215692
Option 4 1D : 69135215690
Status : Not Answered
Chosen Option : --
Q7 gy et ¥ @ F swwes Fr wfEEw FT TH 3STEI0T B
Ans X1 2T T
v 2 ZEqTEdr
X 3. FATIMNT
X 4 FEmaa
Question ID : 6913523970
Option 11D : 69135215880
Option 2 ID : 69135215878
Option 31D : 69135215877
Option 4 1D : 69135215879
Status : Not Answered

Q.7




Statement:

Ans 3¢ 1. Neither I nor II is implicit.

+ 3 Both I and II are implicit.
/< 4 Only assumption [ is implicit.

/< 2. Only assumption IT is implicit.

4  Ineach question below is given a statement followed by two assumptions numbered I and IL. You have to consider the
statement and the following assumptions and decide which of the assumptions is implicit in the statement.

“I would like to do research on the impact of passive smoking on children less than 5 years of age™ X says to Y.

Assumptions:
K The impact of passive smoking on children less than 5 years of age can be found out through research.
II. X possess skills and competencies to do such research.

Chosen Option :

Question ID : 6913523933
Option 11D : 69135215731
Option 2 ID : 69135215730
Option 31D : 69135215732
Option 4 ID : 69135215729
Status : Answered
Chosen Option : 4
Q.7 280 X9 T FE F 30 oA F ;W FG £ 4 GF FH A F A, 80 7 7 FA °F fam oW
S T oy aw F B B @ wE am
Ans X133
X 2 273,
X 3. 34%.
v 4 36%,
Question ID : 6913523915
Option 11D : 69135215658
Option 21D : 69135215657
Option 31D : 69135215660
Option 4 ID : 69135215659
Status : Not Answered

Ans X 1.5¢3 cm
< 2 5415 em
V'3 3415 cm
X 4 55 cm

Q7 ofy o e BT F &Ee 45v3 om?® ¥, & suHr S free 32

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

6913523925
69135215700
69135215697
69135215698
69135215699
Answered




Chosen Option : 3
Q‘7 & &
P T pe = =g Fer ﬂéﬁf
A B c D
Ans x 1. B
<2 A
X3D
vaicC
Question ID : 6913523944
Option 11D : 69135215774
Option 2 ID : 69135215773
Option 31D : 69135215776
Option 4 ID : 69135215775
Status : Answered
Chosen Option : 4
Q.7 ' _
s TTE sin X - cos x = +2 cos x &, @ cot x F AT FT &7
e X042
V242 -1
X3 1
X4y2 +1
Question ID : 6913523921
Option 11D : 69135215681
Option 2 ID : 69135215683
Option 31D : 69135215682
Option 4 ID : 69135215684
Status : Not Answered
Chosen Option : --
Q.7




/

o &1 1% epfa & e R 87

L!

ans X115
X2 20
V519
X410

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

6913523952

69135215808
69135215806
69135215805
69135215807
Not Answered

Ans 1. 45
2 15
3. 30
4. 60

for all candidates.

Q8 wx ¥ # @ N g dg F HgE 38:5 ¥ W 6 AR W A Ay F s & v, A A= A
0 ¥z a7 s 8:3 8 awem & F gl S e 2

Note: For this question, discrepancy is found in question/answer. So, This question is ignored

Question ID :
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status :
Chosen Option :

6913523912

1 69135215647
1 69135215645
1 69135215646
169135215648

Not Answered

1 3 gefag gom
e X Ak B
X2B 3k D

v AR C

Q.8 A B, C, D 3 E 5@t & wAw] wew wAer: 11, 17, 12 3R 13 1 5 &7 #ia &1 357 @A T




X4+D3RE

Chosen Option :

Question ID : 6913523972
Option 11D : 69135215885
Option 2 ID : 69135215886
Option 31D : 69135215887
Option 4 ID : 69135215888
Status : Not Answered
Chosen Option : --
Q-8 & % -
2 foest HpTE 7 I & FEd A HiAv)
=1
H =i
Ans of 1. 36
X235
X3 38
X 4 37
Question ID : 6913523951
Option 11D : 69135215802
Option 2 ID : 69135215801
Option 31D : 69135215804
Option 4 ID : 69135215803
Status : Not Answered

% ofEfhe e e Tl wa 2
AN gYerfr orer Fr

2 diey & T Fr

3. dier & FZ &I

4 oier & omaEr &

for all candidates.

Note: For this question, discrepancy is found in question/answer. So, This question is ignored

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

6913523977
69135215907
69135215905
69135215908
69135215906
Answered

Chosen Option : 3

W sfEmer (FfeeR) v tar w=fEg on, & o]
Ane X1 e F o @ehg e o




v 2. 3= & T geaia orar o
X3 AT & T Sasa FAfeT Far o
X4 7T F O FEms HET & o

Question ID :
Option 11D :
Option2 1D :
Option31D:
Option 41D :
Status :

Chosen Option :

6913523994

69135215974
69135215973
69135215975
69135215976
Not Answered

U8 w5 e g o el #F o5, e ok et A AR § 0
K TEees

v derg

X 3 grIESer

X e

FET F1eT

Question ID :
Option 11D :
Option2 1D :
Option31D:
Option 4 1D :
Status :

Chosen Option :

6913523976

69135215901
69135215904
69135215902
69135215903
Not Answered

% frrafaf@a gdeRor &1 g F

Sa-(-a )
Ans v 2l
X2 42
X312

1
54 5;

Question ID :
Option 11D :
Option2 1D :
Option31D:
Option 41D :
Status :

Chosen Option :

6913523904
69135215613
69135215616
69135215614
69135215615
Answered

1

Q.8




#r gt W &, & 7 750 7T TH-gEy  OR HE?
/< 1.10:30 am
v 2 11:00 am
< 3.11:30 am
/< 4.10:00 am

7 T 8 &1, UF ¢ T A W RvA B d% 40 kmfhraﬁrwﬁyqﬁrwamm%wa%#
mwaﬁtawmmaﬁmmmﬁrsﬂrso kmfhrﬁrwﬁamgﬁr%mﬁ:a’rmmzzo km

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913523913
69135215650
69135215651
69135215652
69135215649
Answered

1

8 m@aﬁmﬁaﬁmaﬁmmaﬁmﬂmwmw%‘?
Ans o 1. 7:3

Q.8 10 ¥ uF far Hr g = A8 Fr g F AT 7w H#VF o 10 T A, Wer Hr g ek @& H

Chosen Option :

X 2 3:1
X3 4:7
X 4 5:2
Question ID : 6913523919
Option 11D : 69135215673
Option 2 ID : 69135215675
Option 31D : 69135215676
Option 4 ID : 69135215674
Status : Answered
Chosen Option : 1
8
(893 + 275)% + (893 + 275)?
(893 x 893 + 275 X 275)
Ans x 1.5
X2 4
X33
v 2
Question ID : 6913523905
Option 11D : 69135215620
Option 2 ID : 69135215619
Option 31D : 69135215617
Option 41D : 69135215618
Status : Not Answered

AT F, eafer #r I 5969 m/s BT B
B.fafse &, «=fa #r =mer 6240 m/is 2T &

069 reafafae F ¥ 9 od Fuw Affes ool § 25°C o =y & 9w F gt F T v




XK rmT A T
X2 A 3k B 3=t wew &
X Faa B aT e
Vi gARFTIEIBETE

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

1 6913523963

1 69135215849
169135215851
1 69135215850
169135215852
: Answered
Chosen Option :

1

Ans x1' 'I-T;'GITI' ﬁg
X 2. 3TUT HANcars
v 5 ofiaTeRer Y
K48 ag

0 ofirrg Fhrw ARTERT Fa T w2 andw R @ 2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913523982

69135215925
69135215928
69135215926
69135215927
Not Answered

% e ofeaeT FiT ¥ Bow W mRg 7
Ans X 1. g T orOe
X 2 7O & I & wefr =aH

v o FE @ A @ gaT e
X 4 FOA FT A FT Igo FIH

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913523957
69135215826
69135215828
69135215827
69135215825
Answered

3

TEHFR W TFATT faar arar ar?

o Rftes I A g

Q.9 ¥ 2017 # forw frew & Aeas & 3T fEaw fren SiEeae (IFF) # Td8rs sad frer &




Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

Question ID :

6913523985
69135215937
69135215938
69135215940
69135215939
Answered

1

01.49 fafafaa & § Fia @1 Fya Tw/3mT 27
AT &7 arA 3R & serd §, o §F agEseny dEl # g4 3Ee # 9Ed wed

B.T& T o°w R 71 318 § B argEse & 9w w4 g AT g #r aeer sy €1 & A
FRH & T F X F Iy @ § AR 57 IR ah A A W A

At 1A 3R B 2T wEeT
X2 g A BT &
X3 FTTBHETE
X4+ A3dRBSH T &

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

6913523969

69135215876
69135215873
69135215874
69135215875
Not Answered

Q.9 aﬁj#mm&vaﬁaﬁrwajmﬂcm%laﬁf#m@mmaﬁmwaﬂﬁw
5 TEEAT oF TAA A &I T FE F OO T Fr e om? A F e F sw @i

Ans 1. 37044
2. 35000
3. 22500
4. 45000

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913523916

69135215662
69135215661
69135215664
69135215663
Not Answered

069 2017 &, @l A, e whe Ak e Feor = o Il & =9 5+ 9
&




Ans ?(1~ B‘T@T

Chosen Option :

X 2 gRIedrers
X3 wyeifeay
4.

o PR
Question ID : 6913523981
Option 11D : 69135215924
Option 2 ID : 69135215922
Option 31D : 69135215923
Option 4 ID : 69135215921

Status : Answered
Chosen Option: 2
Q.9 . "
2 Wi W ARG TAaF &of &1 =Ed Sel-afadar & & H g7
Ans %

X 1. AT ARG JUIHA FEH

v o ARAT FFEgfATe arét

X . SgSAA FAS qrét

X 4 AET FEOfAEC 9 (FEgaE)

2
Question ID : 6913523991
Option 11D : 69135215964
Option 2 ID : 69135215961
Option 31D : 69135215963
Option 4 ID : 69135215962
Status : Not Answered

Q.9 ar & i a¥ 10% T 2 1,80,000 F=T s X W 3uW & vl 5@ e, 304 3@ Ui & @
8 Y T & W AU S H & 2 W % A H W TR T H ey gam?

Ans X 1. 1,600
v 2 71,800
X 3 2,000
X4 2200

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913523911

69135215642
69135215641
69135215644
69135215643
Not Answered
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A B C D
3@ T & 999 X & 399 THg & e 87

Ans | A
2 B
3D
1. ¢

for all candidates.

Note: For this question, discrepancy is found in question/answer. So, This question is ignored

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913523948

69135215789
69135215790
69135215792
69135215791
Not Answered

00 foar oram 31

Ans of 1. 646.8 J
X 2528 J
<3539 J
X 4520 J

Q1 11 kg &1 v 757 57 7 T 6 m 1 T W @, 77 37 TRT Foh Fral & &2 g = 9.8 ms?

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913523961

69135215842
69135215841
69135215843
69135215844
Not Answered




